EAGRAROBREERT — 2 N— ABISH —F

2020518248 (£) 16mAFH5H

BN >%3® 2405¢F

‘ [R1&] & ‘ [RERBB] — | & (&) 14000 =

[A~&£] 17 :1,700,000  ~ 23 :680,000 37 :425,000 § ~ 4 3&:255,000 5 7 :170,000 M

E BB BB Mk HE BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
il | #BU=24892 "3 ZES A R e B A A A P
R:7A7% B:AEY-OTV—IL © Blite

3 . = 0 Sl _ 7,
olgliz| FzV-7U-x i 3 ;‘J_%%A 1(.32/(4.)5 1-1-1 39.7 2 (4+811) R(g/%%g)
RL:ZAX—b77)0> B:ALIITACK NS
3l7lq1| T ERN— 3 %%ﬁgm 1:(238).1 5-3-3 |39.3| — 4 522 gzé;tw
R H—y BTLF-UvavT | mprss
alglia T4 % 3 gﬁélﬁlﬁ#ﬁ 1( 72{{5:1 2-2-2  |39.7| — 9 464 g;{%g (11\#k)
RYZAE—IZAE— B KNTD 0 g7 7 —
. g _ &
sl 5| Va2y/00 v — 73 | [ISEAE 1(.32/%3 7-8-7 | 38.8 6 33) ggé )
:Z2ZXAHA=X A BNDFCTIY—h pllEzse]
6ls5lg|TryoTineTg il 8 || B RS 1(:12/82.)4 756 (394 — | 8 (4:37) _éig EE(;#)
R:A-—JXL x4 B:TINI—T1—> L — Rk — 2435
FLL LA # 3 554_83?5*}@ 1:(269>.6 13-13-12 | 38.7| — | 7 | 467 *E@)—;J&g)
QO BiT-Us 02| g
Hox— # 3 E%%}R"ﬁ 1:30.3 999 |405| — | 12 | 445 %25 (k)
. 31/2 E
QLVZAE—IZRE— BiHuk—vTa— @172 W) | g v s gm0
hey—H ko7 3 ?Eéﬁg?% 1.(30.7 1-10-11 | 40.7| — | 13 | 399 i,ig% (/1#k)
. 2) _ Il
L:TUA-Y BSAITLT =3 | sm K
D -\ i 3 | FEF 1:30.7 9-11-10 | 40.7| — 3 446 | BEBHER (KH)
s B—=I 54.0 (NF) Gy | HEX
Rk YT E BIVEXYD IR 4k
—H I — #3 | HENE 1:31.0 12-12-13 | 40.4| — | 11 | 543 Ejaifgi (KH#)
: 11/2 X
Qi NE—XTa—F— B:VavmIYINF v (1200 | X magig
oL TLI—X # 3 g“&g 1:31.0 3-4-4 |422| — | 5 | 466 ZEETQE (K3)
o (7E) =
QAATATv— BIRFT 02 | prseanss
Cas g B3 | PREE 1:31.8 4-7-8  [42.4| — | 10 | 416 | FHIHABE (k¥#)
INOHTN— K 54.0 ) (a) | ) BEEER
R ZAw—hT77ar BV AF—FTI— ERE M EUN
Sea A e 4312 =] - - - — - — EER (K3
TrAA4TAa7 i 9 56.0 (BG) (=) ?”ﬂ“*ﬂ?&
R:yrhio B:HU—I WE IE
@ 1 — @B
13—=7-—
20—F— 13,14,2,10,11,1,(5,8),(7,9) ,4,6,3
ga=7r= 13,14,11,2,8,1,10,5,9,4,7,6,3
40 —F— 13,14,11,2,1,8,5,10,9,7,4,3,6
[ /N
BB 1 180M4 74K 1-13 300 e E 1-8 520 RPEL:] 1-11-13 1,220
# B 1 110M 1-11 190 e B 1-8 750 R3] 1-13-11 4,340
13 190M 11-13 520 B E 1-13 560M
1 140 B H 1-13 780M

ARICOVWTRDTEEERROODE. TR LI,




